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Sentence Structure
Sentence Fragments

Sentence fragments, a common writing error, are created when an
incomplete thought is written as if it were a complete sentence. Most
fragments are missing a subject, a verb, or both.

Before the war. (fragment)
Before the war, life was pleasant. (complete sentence)

One type of fragment is created when a dependent clause is separated from
its independent clause. The fragment has a subject and verb, but it begins with
a subordinate conjunction. To correct the fragment, attach the dependent clause
to its independent clause. Be careful to avoid improper subordination.

Although the night was beautiful. It was cold.
dependent clause

Although the night was beautiful, it was cold.

Questions on the GED test will ask you to recognize ways to correct
sentence fragments.

Try this GED example. Choose the one best answer to each question. Then check your answers.

(1) Celebrities like movie stars, royalty, and 2. Sentences 5 and 6: Tragedies like serious
rock bands often have difficulty living private iliness or even death. They are not private.

lives. (2) So many photographers and fans.

(3) They invade a star’s privacy. (4) The public
demands to know about personal milestones
such as marriage or the birth of children.

(6) Tragedies like serious illness or even death.
(6) They are not private. (7) Celebrities need
publicity, but most hate the invasion of their

daily activities.

1. Sentences 2 and 3: So many

Which is the best way to write the
underlined portion of these sentences?
If the original is the best way, choose
option (1).

1) death. They are not

2) death. They are

3) death are not

4) death; they are not

5) death, and they are not

(
(
(
(
(

photographers and fans. They invade

a star’s privacy.

Which is the best way to write the
underlined portion of these sentences?
If the original is the best way, choose

option (1).
(1) fans. They invade

1. (5) Sentence (2) is a fragment because it
lacks a verb. Combining the two sentences
provides the verb invade, which is used to
create a complete thought.

2. (3) Sentence (5) is an incomplete thought

(2) fans. They invaded because it does not contain a verb. Since

(8) fans, they invade
(4) fans; invade
(5) fans invade

sentences (5) and (6) are related in
meaning, they can be combined to form a
complete thought.
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Directions: Choose the one best answer to each
question. Questions 1 through 5 refer to the
following paragraph.

(1) More and more Americans are
telecommuting. (2) Telecommuting working from
home instead of going to your employer’s office.
(8) This new method of working saves travel
time, and even saves money on work clothes.
(4) Employees simply walk into their offices at
home, wearing whatever is comfortable, and
begin working at their own desks. (5) Companies
allow telecommuting for various reasons.

(6) Increased worker morale and decreased
need for office space. (7) Because telecommuters
need to be sure, however, that they consider all
aspects of working at home.

1. Sentence 2: Telecommuting working
from home instead of going to your
employer’s office.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) Telecommuting working

(2) Telecommuting, working

(3) Telecommuting is working

(4) Telecommuting and working
(5) Telecommuting since working

2. Sentence 3: This new method of working
saves travel time, and even saves money
on work clothes.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) saves travel time, and even
(2) saved travel time, and even
(3) saving travel time, and even
(4) saves travel time and even
(5) saves travel time and it even

Sentence Fragments

3. Sentence 4. Employees simply walk into
their offices at home, wearing whatever
is comfortable, and begin working at
their own desks.

Which correction should be made to
sentence 47

(1) replace their offices with there offices
(2) replace home, with home;

(3) change wearing to wore

(4) change is to was

(5) no correction is necessary

Nt

4. Sentences 5 and 6: Companies allow
telecommuting for various reasons.
Increased worker morale and decreased
need for office space.

The most effective combination of sentences
5 and 6 would include which group of words?

(1) reasons, such as increased
(2) reasons, because increased
(3) reasons, increased

(4) reasons; however, increased
(5) reasons, for increased

5. Sentence 7: Because telecommuters need
to be sure, however, that they consider
all aspects of working at home.

Which correction should be made to
sentence 77

(1) replace Because telecommuters with
Telecommuters

(2) replace Because with Since

(3) insert a comma after need

(4) replace sure, with sure;

(5) no correction is necessary

If a sentence fragment begins with a
subordinate conjunction, you can often
correct the fragment by eliminating the
conjunction and capitalizing the next
word.
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Questions 6 through 12 refer to the following
paragraph.

(1) Technology now exists that allow us to
precisely determine where anything is located on
Earth. (2) Global positioning. (3) Orbiting
satellites beam very precise data. (4) Special
receivers on the earth’s surface. (5) Although
then the new technology lets people use a hand-
held device to determine exactly where they are.
(6) With one of these receivers, hikers and
drivers would never get lost. (7) Objects, whether
they are moving or stationary could also be
located easily. (8) Any stolen car could be found
quickly after its theft.

6. Sentences 3 and 4: Orbiting satellites
beam very precise data. Special receivers
on the earth’s surface.

Which is the best way to write the underlined
portion of these sentences? If the original is
the best way, choose option (1).

(1) very precise data. Special receivers
(2) very precise data. Receivers

(3) very precise data to special receivers
(4) very precise receiver data

(5) very precise receivers to special data

7. Sentence 1: Technology now exists that
allow us to precisely determine where
anything is located on Earth.

Which correction should be made to
sentence 1?

(1) replace now with know

(2) insert a comma after exists
(3) change allow to allows

(4) replace where with there
(5) no correction is necessary

8. Sentence 2: Global positioning.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) Global positioning.

(2) Itis called global positioning.
(3) Called global positioning.

(4) It is called, global positioning.
(5) Its called global positioning.

10.

) 3 18

12.

——

9.

Sentence 5: Although then the new
technology lets people use a hand-held
device to determine exactly where

they are.

Which correction should be made to
sentence 5?7

(1) replace Although then with Then
(2) insert a comma after device

(3) replace lets with let’s

(4) insert at after are

(5) no correction is necessary

Sentence 6: With one of these receivers,
hikers and drivers would never get lost.

Which correction should be made to
sentence 67

(1) replace With with Without

(2) replace one with won

(8) replace receivers, with receivers;
(4) insert a comma after and

(5) no correction is necessary

Sentence 7: Objects, whether they are
moving or stationary could also be
located easily.

Which correction should be made to
sentence 77

(1) replace they are with their

(2) change are to will be

(8) insert a comma after moving

(4) replace stationary with stationery
(5) insert a comma after stationary

Sentence 8: Any stolen car could be
found quickly after its theft.

Which correction should be made to
sentence 8?7

(1) change car to cars

(2) insert a comma after found
(3) insert a comma after quickly
(4) replace its with it's

(5) no correction is necessary

Lesson 1
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Sentence Structure
Run-On Sentences

Run-on sentences are another common writing error. A run-on sentence
contains two or more sentences without punctuation to separate them.

The night was beautiful it was cold. (run-on sentence)

A run-on sentence contains independent clauses that are joined without the
proper linking words or punctuation. This error can be corrected in several ways.

(1) Use a period to create separate sentences.
The night was beautiful. It was cold.

(2) If the clauses are closely related, join them with a semicolon.
The night was beautiful; it was cold.

(3) Join the two clauses with a comma and a coordinating conjunction.
The night was beautiful, but it was cold.

(4) Use a semicolon, a conjunctive adverb, and a comma to create one sentence.
The night was beautiful; however, it was cold.

(5) Subordinate one clause to the other.
Although the night was beautiful, it was cold.

Questions on the GED test will ask you to recognize ways to correct run-on

sentences.

Try this GED example. Choose the one best answer to each question. Then check your answers.

(1) Sociologists say that a major change in.
American life has been the move from limited
options to many choices. (2) Nowhere is this
change more obvious than when we turn on our
TV sets. (3) Our choices once consisted of three

networks compare that to today’s cable services.

(4) People like having options, many of us
wonder if we really need over 100 channels.

1. Sentence 3: Our choices once consisted
of three networks compare that to
today’s cable services.

Which is the best way to write the
underlined portion of this sentence?
If the original is the best way, choose
option (1).

(1) three networks compare

(2) three networks and compare

(8) three networks, and compare

(4) three networks. Compare

(5) three networks, however compare

2. Sentence 4: People like having options,

many of us wonder if we really need over
100 channels.

Which correction should be made to
sentence 47

(1) replace People with Although people
(2) change having to to have

(3) replace options, with options;

(4) insert and after options,

(5) no correction is necessary

. (4) This run-on sentence contains two

distinct thoughts. It is best corrected by
using a period to create two sentences.

- (1) The first complete thought in this

sentence (People like having options) can
be subordinated to the second thought to
create a sentence that makes sense.
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question. Questions 1 through 5 refer to the
following paragraph. -

(1) The tourist wrestling with the heavy
suitcases is probably an overpacker. (2) Heavy
bags can cause serious back injuries, they ruin
an expensive vacation. (3) Some overpackers
defend their choice by saying, “You never know
what you might need!” (4) Remember times have
changed, we live in a shrinking world, and
camera film is now readily available in Tanzania.
(5) Also, don't pack a separate outfit for each
day avoid it. (6) Choose a few basic garments
that you can mix and match by alternating shirts
and tops and then use accessories like scarves
or ties to vary the look. (7) Finally, don’t pack too

many pairs of shoes they are heavy and require

too much suitcase space.

1. Sentence 2: Heavy bags can cause
serious back injuries, they ruin an
expensive vacation.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) back injuries, they ruin

(2) back injuries, ruining

(3) back injuries; they're ruining
(4) back injuries, like ruining
(5) back injuries ruining

2. Sentence 3: Some overpackers defend
their choice by saying, “You never know
what you might need!”

Which correction should be made to
sentence 37

(1) change defend to defending
(2) replace their with they're

(3) insert a comma after choice
(4) change by saying to to say
(5) no correction is necessary

GED) Run-On Sentences

Directions: Choose the one best answer to each -

3. Sentence 5: Also, don’t pack a separate
outfit for each day avoid it.

If you rewrote sentence 5 beginning with
Also,
the next words should be

(1) do’nt pack

(2) don’t packing

(3) pack a separate ouffit
(4) avoid packing

(5) avoid it

4. Sentence 6: Choose a few basic

garments that you can mix and match by
alternating shirts and tops and then use
accessories like scarves or ties to vary
the look.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) tops and then use

(2) tops. Then use

(3) tops, then use

(4) tops but then use

(5) tops; besides, you can then use

5. Sentence 7: Finally, don’t pack too many

pairs of shoes they are heavy and require
too much suitcase space.

Which correction should be made to
sentence 77

(1) replace too many with two many

(2) replace shoes they with shoes. They
(3) insert although after shoes

(4) insert a comma after heavy

(5) no correction is necessary
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Questions 6 through 10 refer to the following

paragraph.

(1) We all know that dictionaries contain
definitions. (2) If you don’t know what salubrious
means or how to pronounce scherzo.

(3) Reaching for a dictionary. (4) However, a
dictionary contains more than a lot of words it
is a reference book as well. (5) My dictionary
contains the entire text of the Declaration of
Independence, the Constitution, and all the
constitutional amendments. (6) | can also find
a list of the highest mountains in the world,
although however | am not planning to climb
all of them. (7) Dictionaries they are a great
reference for students even include the names
of famous people and fictional characters.

6. Sentences 2 and 3: If you don’t know what
salubrious means or how to pronounce
scherzo. Reaching for a dictionary.

Which is the best way to write the
underlined portion of these sentences? If the
original is the best way, choose option (1).

(1) pronounce scherzo. Reaching
(2) pronounce scherzo reaching
(3) pronounce scherzo, reaching
(4) pronounce scherzo, reach

(5) pronounce scherzo; reaching

7. Sentence 4: However, a dictionary
contains more than a lot of words it is
a reference book as well.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) a lot of words it is
(2) alot of words it is
(3) a lot of words, it is
(4) a lot of words. It is
(5) a lot of words. Its

8. Sentence 5: My dictionary contains the
entire text of the Declaration of
Independence, the Constitution, and
all the constitutional amendments.

Which correction should be made to
sentence 57

(1) change dictionary to dictionaries

(2) insert a comma after text

(8) remove the comma after Independence
(4) change amendments to Amendments
(5) no correction is necessary

9. Sentence 6: | can also find a list of the
highest mountains in the world, although
however | am not planning to climb all
of them.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) world, although however
(2) world although

(3) world although, however
(4) world and

(5) no correction is necessary

10. Sentence 7: Dictionaries they are a great
reference for students even include the
names of famous people and fictional
characters.

If you rewrote sentence 7 beginning with

A great reference for

the next words should be

(1) dictionaries, students

(2) students, dictionaries

(3) students’ dictionaries

(4) names of famous people

(5) famous people and fictional characters

P,

~ Most run-on sentences are the product

. of a writer who's in a hurry. So when you
edit your final draft, be sure to correct
any run-on sentences.

Lesson 2



Sentence Structure
Comma Splice ‘

Do not join two or more independent clauses with only a comma. This
error creates a comma splice.

Our car broke down, we were stranded in the middle of nowhere.

A comma splice can be corrected in several ways.
(1) Separate the two clauses with a period.
Our car broke down. We were stranded in the middle of nowhere.
(2) Add a coordinating conjunction after the comma.
Our car broke down, so we were stranded in the middle of nowhere.
(3) If the clauses are closely related, join them with a semicolon.
Our car broke down; we were stranded in the middle of nowhere.
(4) Use a semicolon, a conjunctive adverb, and a comma to create one sentence.
Our car broke down; consequently, we were stranded in the middle
of nowhere.
(5) Subordinate one clause to the other.
When our car broke down, we were stranded in the middle of nowhere.

Questions on the GED test will ask you to recognize ways to correct
comma splices.

Try this GED example. Choose the one best answer to each question. Then check your answers.

(1) An ordinary kitchen timer can be used in a
number of unexpected ways. (2) Some couples

2. Sentence 3: One person takes three
minutes to state his or her view of

use this simple household item as the official
timekeeper, it is used during a discussion or

argument. (3) One person takes three minutes
to state his or her view of the problem, the other
party gets an equal turn. (4) This practice helps

to prevent a discussion from deteriorating into
a speech.

1. Sentence 2: Some couples use this
simple household item as the official
timekeeper, it is used during a
discussion or argument.

Which is the best way to write the
underlined portion of this sentence? If the

original is the best way, choose option (1).

(1) timekeeper, it is used during
(2) timekeeper, used during

(3) timekeeper. It is used

(4) timekeeper during

(5) timekeeper; therefore, it is used

the problem, the other party gets an
equal turn.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) problem, the other party

(2) problem. Then the other party

(3) problem, but the other party

(4) problem after the other party

(5) problem; meanwhile, the other party

1. (4) The second complete thought can be

subordinated to the first thought to create a
sentence that is more concise.

2. (2) Option (2) is the only choice that

corrects the comma splice and retains the
meaning of the original sentence.
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Directions: Choose the one best answer to each

question. Questions 1 through 5 refer to the

Comma Splice

3. Sentence 3: Experienced fliers can keep

a sailplane aloft all day, they can cover

following paragraph.

(1) Sailplane soaring is the safest of the aerial

sports, it is certainly thrilling. (2) Using rising
warm-air currents rather than engine power, a
sailplane pilot can gain stupendous altitudes.

(3) Experienced fliers can keep a sailplane aloft

all day, they can cover hundreds of miles.

(4) The sensation of flight in a plane that is not
powered by an engine is quite unique. (5) The
flier is suspended in midair, experiencing little
vibration and no noise, there is the rush of the
wind. (6) Pilots say they experience an
exhilarating sense of freedom, they also
experience a profound calm.

1.

Sentence 1: Sailplane soaring is the
safest of the aerial sports, it is
certainly thrilling.

Which correction should be made to
sentence 17

(1) replace Sailplane with Although
sailplane

(2) insert so after the comma

(3) change it is to it's

(4) replace it is with its

(5) no correction is necessary

. Sentence 2: Using rising warm-air

currents rather than engine power, a
sailplane pilot can gain stupendous
altitudes.

Which correction should be made to
sentence 27

(1) change Using to Use

(2) insert a comma after currents
(3) insert and after the comma
(4) replace power, with power;
(5) no correction is necessary

hundreds of miles.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) day, they can cover

(2) day; however, they can cover
(3) day, covering

(4) day, when they can cover

(5) day, but they can cover

4. Sentence 5: The flier is suspended in
midair, experiencing little vibration and
no noise, there is the rush of the wind.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) noise, there is

(2) noise, their is

(8) noise, for there is

(4) noise except

(5) noise; meanwhile, there is

5. Sentence 6: Pilots say they experience an
exhilarating sense of freedom, they also
experience a profound caim.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) freedom, they also experience

(2) freedom and

(3) freedom; consequently, they also
experience

(4) freedom and they also experience

(5) freedom, for they also experience

When correcting comma splices, do not
be content to simply separate the two
clauses with a period. One of the other
four choices listed on page 9 may be
needed.
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Questions 6 through 10 refer to the following
paragraph.

(1) Parents who are expecting should keep
their child’s medical history, they should start
now. (2) Functionally, these running records are
much like a personal diary, the writer records only
medical events. (3) A child’s record should begin
with any prenatal problems or complications in
the hospital after birth. (4) Parents should list
immunizations, doctor appointments, and
ilinesses. (5) The history should include both
prescription and non-prescription medications, it
should note any negative reactions. (6) Parents
maintaining thorough records while their children
are young, parents can supply invaluable
information when children become adults.

6. Sentence 1: Parents who are expecting
should keep their child’s medical history,
they should start now.

Which is the most effective rewrite of
sentence 17

(1) Parents who are expecting should keep
their child’s medical history now.

(2) Parents who are expecting should start
now to keep their child's medical history.

(3) Parents, since they were expecting,
should now start to keep their child’s
medical history.

(4) A child’s medical history should be
started now, if parents are expecting.

(5) no revision is necessary

7. Sentence 2: Functionally, these running
records are much like a personal diary,
the writer records only medical events.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) diary, the writer

(2) diary; therefore, the writer
(3) diary but the writer

(4) diary, but the writer

(5) diary; the writer

8. Sentence 3: A child’s record should
begin with any prenatal problems or
complications in the hospital after birth.

Which correction should be made to
sentence 37

(1) change child’s to childs’

(2) insert a comma after problems
(8) change should begin to began
(4) insert prenatal after or

(5) no correction is necessary

9. Sentence 5: The history should include
both prescription and non-prescription
medications, it should note any negative
reactions.

Which is the best way to write the
underlined portion of this sentence? If the
original is the best way, choose option (1).

(1) medications, it should note

(2) medications, for

(3) medications, noting

(4) medications, although it should note
(5) medications; besides, it should note

10. Sentence 6: Parents maintaining thorough
records while their children are young,
parents can supply invaluable information
when children become adults.

Which is the most effective rewrite of
sentence 67

(1) Parents must maintain thorough
records while their children are young,
then parents can supply invaluable
information when children become adults.

(2) Parents maintain thorough records while
their children are young, supplying
invaluable information when becoming
adults.

(3) Parents who maintain thorough records
while their children are young can
supply invaluable information when the
children become adults.

(4). Parents, maintaining thorough records

“while they’re children are young, can
supply invaluable information when they
become adults.

(5) no revision is necessary

Lesson 3
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>, A > Sentence Structure
Misplaced Modifiers

Misplaced modifiers confuse readers because the modifiers seem to refer
to the wrong word or to more than one word in a sentence. To correct the
problem, place words and phrases as close as possible to the words they modify.

The car ran off the road and hit the tree as it was trying to get back on
the road. (misplaced modifier)

The car ran off the road and, as it was trying to get back on the road, the
car hit the tree. (correctly placed modifier)

Questions on the GED test will ask you to recognize ways to correct

misplaced modifiers.

Try this GED example. Choose the one best answer to each question. Then check your answers.

(1) A skin growth can appear suddenly for no
obvious reason of any size. (2) Most are
harmless, but some growths can be tiny skin
cancers. (3) So when you notice a spot that
wasn't there before, go see your dermatologist
right away. (4) Last year, a wart appeared on my
hand that | wanted removed. (5) The doctor
decided to remove it right away. (6) Fortunately,
the procedure was quick and painless.

1. Sentence 1: A skin growth can appear -
suddenly for no obvious reason of
any size.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) skin growth can appear suddenly for no
obvious reason of any size.

(2) skin growth can appear suddenly, for no
obvious reason of any size.

(3) skin growth can appear suddenly, for no
obvious reason, of any size.

(4) skin growth of any size can appear
suddenly for no obvious reason.

(5) skin growth of any size can appear for
no obvious reason suddenly.

2. Sentence 4: Last year, a wart appeared on

my hand that | wanted removed.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) wart appeared on my hand that | wanted
removed.

(2) wart appeared that | wanted removed on
my hand.

(3) wart that | wanted removed appeared on
my hand.

(4) wart that | wanted appeared removed on
my hand.

(5) wart on my hand appeared that | wanted
removed.

. (4) Sentence 1 is written incorrectly because

the phrase of any size illogically modifies
reason. The phrase must be moved so that
it correctly modifies growth.

. (3) The clause that | wanted removed is a

misplaced modifier. It must be moved so that
it modifies wart, not hand.

12 Language Arts, Writing GED Skill Book » Sentence Structure and Organization
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Directions: Choose the one best answer to each.

question. Questions 1 through 5 refer to the
following paragraph. -

(1) When traveling long distances, you must
be prepared with children. (2) They need many

items to keep him happy in cars. (3) Games,

books, pillows, and snacks. (4) However, people

in cars that are overflowing with children often

dont seem to have much fun. (5) Sometimes you

see by the side of the road a car with a family

that has broken down. (6) Traveling with children

is hard, but having car trouble makes it a
nightmare.

1. Sentence 1: When traveling long
distances, you must be prepared with
children.

Which is the best way to write the
underlined portion of this sentence? If the

original is the best way, choose option (1).

(1) distances, you must be prepared with
children.

(2) distances you must be prepared with
children.

(3) distances with children, you must be
prepared.

(4) distances you must with children be
prepared. :

(5) distances; you must with children be
prepared.

2. Sentence 2: They need many items to
keep him happy in cars.

Which correction should be made to
sentence 27

(1) change need to needs

(2) change items to item’s

(3) replace him with them

(4) insert a comma after happy
(5) no correction is necessary

Misplaced Modifiers

3. Sentence 3: Games, books, pillows, and

shacks.

Which correction should be made to
sentence 37

(1) remove the comma after Games
(2) insert a comma after and

(3) insert many after and

(4) insert are useful after snacks
(5) no correction is necessary

_ Sentence 4: However, people in cars that

are overflowing with children often dont
seem to have much fun.

Which correction should be made to
sentence 47

(1) replace However, with However;
(2) replace that with what

(8) change are to were

(4) change are to had been

(5) change dont to don’t

. Sentence 5: Sometimes you see by the

side of the road a car with a family that
has broken down.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) by the side of the road a car with a
family that has broken down.

(2) by the side of the road a car that has
broken down with a family.

(3) a car with a family that has broken down
by the side of the road.

(4) a family by the side of the road with a
car that has broken down.

(5) a family with a car by the side of the
road that has broken down.

Lesson 4
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Questions 6 through 10 refer to the following
paragraph.

(1) The art of American quiltmaking is
enjoying a new popularity, which was once
nearly forgotten. (2) Today, people make quilts
for artistic pleasure. (3) In the past, quilts were
made for different reasons. (4) The first quilts, for
example were made for warmth. (5) The first
quilters used scraps of cloth to make a quilt
which was scarce in the American colonies.

(6) Many years later, fabrics manufactured
especially for quilting, became available.

(7) Eventually, what began as a necessity in the
United States became an American folk art.

6. Sentence 1: The art of American
quiltmaking is enjoying a new popularity,
which was once nearly forgotten.

If you rewrote sentence 1 beginning with

The art of American quiltmaking, which

the next words should be

(1) was nearly once in the American
colonies

(2) was once nearly forgotten in the
American colonies

(3) enjoyed in the American colonies

(4) was enjoyed once in the American
colonies

(5) had once enjoyed popularity

7. Sentence 2: Today, people make quilts for
artistic pleasure.

Which correction should be made to
sentence 27

(1) remove the comma after Today
(2) insert who after people

(3) change make to made

(4) insert a comma after quilts

(5) no correction is necessary

8. Sentence 4: The first quilts, for example
were made for warmth.

Which correction should be made to
sentence 47

(1) remove the comma after quilts
(2) insert a comma after example
(3) change were to was

(4) insert a comma after made
(5) no correction is necessary

9. Sentence 5: The first quilters used scraps
of cloth to make a quilt which was scarce
in the American colonies.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) cloth to make a quilt which was scarce in
the American colonies.

(2) cloth; to make a quilt which was scarce
in the American colonies.

(3) cloth, which was scarce in the American
colonies, to make a quilt.

(4) quilt to make a cloth which was scarce in
the American colonies.

(5) cloth which was scarce in the American
colonies; to make a quilt.

10. Sentence 6: Many years later, fabrics
manufactured especially for quilting,
became available.

Which correction should be made to
sentence 67

(1) remove the comma after later
(2) insert a comma after fabrics

(3) remove the comma after quilting
(4) change became to become

(5) no correction is necessary

Ask yourself who or what a modifying
word or phrase describes. Then make
sure the modifier is placed as closely
as possible to whatever it describes.
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Dangling Modifiers

Dangling modifiers create a sentence that lacks an appropriate subject.

Looking down at the valley, the colors were beautiful.
dangling modifier

Who is looking at the valley? In this sentence, the phrase Looking down
at the valley, modifies colors. Since colors cannot look at a valley, the
writer must create an appropriate subject.

Looking down at the valley, we saw that the colors were beautiful.
(corrected sentence)

To fix a dangling modifier, create a logical subject for the modifier.
Walking to the office, the police car pulled over the red truck.

Walking to the office, I saw the police car pull over the red truck.
(corrected by creating a subject)

While I was walking to the office, I saw the police car pull over the red
truck. (corrected by creating a subordinate clause)

Questions on the GED test will ask you to recognize ways to correct
dangling modifiers.

Try this GED example. Choose the one best answer to each question. Then check your answers.

(1) At the end of this month, | will leave on a 2. Sentence 3: Daydreaming continuously,
ten-day cruise of Alaska. (2) Thinking about my my office tasks are piling up.
luxury vacation all day long, my work is taking
much longer than it usually does. (3) Daydreaming
continuously, my office tasks are piling up. (4) At My office tasks are piling up
this rate, my boss will never let me leave!

If you rewrote sentence 3 beginning with

the next words should be

1. Sentence 2: Thinking about my luxury (1) daydreaming continuously
vacation all day long, my work is taking (2) daydreams continued
much longer than it usually does. (3) while my luxury vacation

(4) while | daydream continuously

Which correction should be made to (5) although | daydream continuously

sentence 27

(1) insert Because | am at the beginning of

the sentence 1. (1) Creating a clause that contains a subject
(2) remove the comma after long fixes the dangling modifier.
(3) replace long, with long;
(4) insert a comma after longer 2. (4) The sentence must identify who is
(5) no correction is necessary daydreaming. Only option (4) does so and

retains the sense of the original sentence.
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Directions: Choose the one best answer to each
question. Questions 1 through 6 refer to the
following paragraph. ‘

(1) Comets are icy, celestial bodies, that have
one or two tails. (2) We can see comets without
a high-power telescope only when they orbit
very near the sun. (3) The sun melts the ice,
creating a vapor trail of shining dust particles.
(4) We watch their swift, brilliant journeys,
knowing they are very far away. (5) With dazzling
tails behind them, we are astonished by their
beauty. (6) Looking up into the night sky, the
unusual light show is awesome.

1. Sentence 1: Comets are icy, celestial
bodies, that have one or two tails.

Which correction should be made to .
sentence 17

(1) remove the comma after bodies
(2) replace that with what

(3) insert a comma after one

(4) replace tails with tales

(5) no correction is necessary

2. Sentence 2: We can see comets without a
high-power telescope only when they
orbit very near the sun.

If you rewrote sentence 2 beginning with

Without a high-power telescope,

the next words should be

(1) we can see

(2) we can sea

(3) comets orbit

(4) when they orbit
(5) very near the sun

Dangling Moditiers

3. Sentence 3: The sun melts the ice,

creating a vapor trail of shining
dust particles.

Which correction should be made to
sentence 37

(1) change sun to Sun

(2) change sun to son

(3) replace creating with creates
(4) insert a comma after trail

(5) no correction is necessary

_ Sentence 4: We watch their swift, brilliant

journeys, knowing they are very far away.
If you rewrote sentence 4 beginning with

Knowing they are very far away,

the next words should be

(1) comets are

(2) we watch

(3) we had watched

(4) their swift, brilliant journies
(5) there swift, brilliant journies

_ Sentence 5: With dazzling tails behind

them, we are astonished by their beauty.

Which is the best way to write the underlinet
portion of this sentence? If the original is the
best way, choose option (1.

(1) we are astonished by their beauty.
(2) we are astonished by comets by
their beauty.
(3) we are astonishing by their beauty.
(4) comets are astonished by their beauty.
(5) comets astonish us by their beauty.

_ Sentence 6: Looking up into the night sk

the unusual light show is awesome.

Which correction should be made to
sentence 67

(1) remove the comma after sky

(2) insert you see after sky,

(3) insert we all agree that after sky,
(4) insert a comma after show

(5) no correction is necessary

16
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Questions 7 through 12 refer to the following

paragraph.

(1) Windjammers are large sailboats that are
familiar sights along the coast of New England.

(2) Looking for an adventure, a windjammer
cruise can be exciting and fun. (3) Boarding
the boat, a 110-foot schooner, early Monday.

(4) The scenery, sailing along the shoreline was

breathtaking. (5) Then we explored a town or
island before dinner each day. (6) The food

was always delicious; and each evening we sang

or played cards. (7) All this in beautiful
surroundings for six days.

7. Sentence 1: Windjammers are large
sailboats that are familiar sights along
the coast of New England.

Which correction should be made to
sentence 17?

(1) insert a comma after sailboats

(2) insert along the coast of New England |

after sailboats
(3) replace sights with sites
(4) insert a comma after sights
(5) no correction is necessary

8. Sentence 2: Looking for an adventure,
a windjammer cruise can be exciting
and fun.

Which is the best way to write the underlined
portion of this sentence? If the original is the

best way, choose option (1).

(1) adventure, a windjammer
(2) adventure; a windjammer

3) adventure, we found that a windjammer

(3)
(4) adventure, an exciting windjammer
(5) adventure, exciting and fun

9. Sentence 3: Boarding the boat, a 110-foot

schooner, early Monday.

Which correction should be made to
sentence 37

(1) replace Boarding with After boarding
(2) remove the comma after boat

(3) remove the comma after schooner
(4) replace schooner, with schooner,;

(5) insert was exciting after Monday

10.

11,

12

Tip

Sentence 4: The scenery, sailing along the
shoreline was breathtaking.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) The scenery, sailing

(2) The scenery sailing

(3) The scenery was sailing

(4) The scenery we saw while sailing
(5) The scenery sailing was

Sentence 6: The food was always
delicious; and each evening we sang or
played cards.

Which correction should be made to
sentence 67

(1) insert a comma after food

(2) replace delicious; with delicious,
(3) insert a comma after and

(4) insert a comma after sang

(5) no correction is necessary

Sentence 7: All this in beautiful
surroundings for six days.

Which correction should be made to
sentence 77

(1) replace All with Since all

(2) replace All with We enjoyed all

(3) insert a semicolon after this

(4) insert a comma after beautiful

(5) insert a comma after surroundings

The key to correcting a dangling modifier
is common sense. The phrase or clause
must modify a word in the sentence that
makes sense. First, find the modifier.
Then find the word that is being
modified. Does it make sense? If not, the
phrase or clause is said to be “dangling.”

Lesson 5
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Sentence Structure
Parallel Structure

parallel structure means that equal and related words and phrases must us
the same grammatical form.

s Verbs, nouns, adjectives, of adverbs in a series must use the same grammatical
form.

She is happy, charming, and has beauty. (Has beauty is not parallel with
the adjectives happy and charming.)

She is happy, charming, and beautiful. (correct)
The ad shows the desk’s size, color, and how much it costs. (How much
costs is not parallel with the nouns size and color.)

The ad shows the desk’s size, color, and price. (correct)

» Phrases in a series must use the same grammatical form.
She makes quilts for relaxation, entertainment, and to earn €xtra money.
(To earn extra money is not parallel with the nouns relaxation and
entertainment.) '

She makes quilts for relaxation, entertainment, and €xtra money. (correc

Questions on the GED test will ask you to recognize efrors in parallel structure

Try this GED example. Choose the one best answer to each question. Then check your answers.

(1) Each workday we must check figures, talk 2. Sentence 2: Unfortunately, we are
to clients, and make decisions about what to distracted by the phone, the fax machir
buy. (2) Unfortunately, we are distracted by the and our boss calling meetings.

phone, the fax machine, and our boss calling if you rewrote sentence 2 beginning with

meetings.
The phone, the fax machine, and

1. Sentence 1: Each workday we must
check figures, talk to clients, and make
decisions about what to buy. (1) our boss calling meetings

(2) calling meetings

(3) the meetings called by our boss

(4) being at meetings called by our boss

(1) insert a comma after check (5) we have to go to meetings

(2) remove the comma after figures

(8) replace make decisions with deciding

(4) replace buy with by 1. (5) The sentence is correct. Check figure

(5) no correction is necessary talk to clients, and make decisions are

parallel verb phrases.

the next words should be

Which correction should be made to
sentence 17

2. (3) The meetings is @ noun phrase that i
parallel with the phone and the fax mach
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Directions: Choose the one best answer to each
question. Questions 1 through 5 refer to the
following paragraph.

(1) The tall Afghan hound are an ancient dog
breed. (2) The Afghan, which has a curling tail,
is long-eared, and has long legs. (3) The Afghan
also has thick, long, flowing hair. (4) Afghans
are aloof, are stubborn, and have a sweet
disposition. (5) For such a large and stately
dog the Afghan is surprisingly affectionate.

(6) Afghans like to hunt, to run, and being by
themselves outside.

1. Sentence 1: The tall Afghan hound are an
ancient dog breed.

Which correction should be made to
sentence 17

(1) change Afghan to afghan

(2) insert a comma after hound
(3) change are to is

(4) insert a comma after ancient
(5) no correction is necessary

2. Sentence 2: The Afghan, which has a
curling tail, is long-eared, and has
long legs. -

If you rewrote sentence 2 beginning with

With a curling tail, long ears, and

the next words should be

ok (@M Parallel Structure

3. Sentence 4: Afghans are aloof, are
stubborn, and have a sweet disposition.

If you rewrote sentence 4 beginning with

Afghans are aloof, stubborn, and

the next word or words should be

(1) have a sweet disposition
(2) sweet

(3) sweetly

(4) are sweet dispositioned

(5) with a sweet disposition

4. Sentence 5: For such a large and
stately dog the Afghan is surprisingly
affectionate.

Which correction should be made to
sentence 57

(1) insert a comma after large
(2) insert a comma after dog
(3) changeistoare
(4) insert a comma after is

(5) no correction is necessary

5. Sentence 6: Afghans like to hunt, to run,
and being by themselves outside.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) being by themselves
(2) to be by themselves

(1) its long legs, (3) want to be by themselves

(2) has long legs (4) are glad to be by themselves

(3) legs that are long, (5) be by themselves

(4) runs on long legs

(5) long legs,

( ®
Exact meaning can be unclear in parallel
constructions. If necessary, repeat an
article (a, an, or the), a preposition, or a
pronoun to clarify meaning.
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Questions 6 through 11 refer to the following
paragraph.

(1) In October, the states of Vermont and
Maine have spectacular colors, crisp weather,
and leaves that fall. (2) Although they are green
in the spring, the leaves turn bright red, deep
brown, and yellow that shines in the fall. (3) The
lake or ocean water is blue, clear, and it sparkles.
(4) For many years, tourists have travel long
distances to see these sights. (5) Maine and
Vermont have become a favorite destination for
hikers, bicyclists, and people who take pictures.
(6) Our visitors always enjoy the fresh country
air and the beautiful colors of the New England
landscape.

6. Sentence 1: In October, the states of
Vermont and Maine have spectacular
colors, crisp weather, and leaves that fall.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) leaves that fall.
(2) leaves who fall.
(3) leaves are falling.
(4) falling leaves.

(5) leaves fall.

7. Sentence 2: Although they are green in
the spring, the leaves turn bright red,
deep brown, and yellow that shines in
the fall.

Which correction should be made to
sentence 27

(1) remove the comma after spring

(2) replace red with read

(3) change yellow that shines to yellow
shining

(4) change yellow that shines to shining
yellow

(5) no correction is necessary

8. Sentence 3: The lake or ocean water is
blue, clear, and it sparkles.

Which correction should be made to
“sentence 37

(1) insert a comma after lake

(2) change is to are

(3) remove the comma after blue

(4) change it sparkles to sparkling

(5) change it sparkles to which sparkles

9. Sentence 4: For many years, tourists have
travel long distances to see these sights.

Which correction should be made to
sentence 47

(1) remove the comma after years
(2) insert a comma after tourists
(3) change travel to travelled

(4) replace see with sea

(5) no correction is necessary

10. Sentence 5: Maine and Vermont have
become a favorite destination for hikers,
bicyclists, and people who take pictures.

Which correction should be made to
sentence 57

(1) change have to had

(2) remove the comma after hikers

(3) insert a comma after people

(4) replace people who take pictures with
photographers

(5) no correction is necessary

11. Sentence 6: Our visitors always enjoy the
fresh country air and the beautiful colors
of the New England landscape.

Which correction should be made to
sentence 67

(1) replace Our with Hour

(2) insert a comma after air

(3) insert a comma after colors

(4) change New England to new England
(5) no correction is necessary
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Combining Sentences

* Sentences can be combined with a comma and a coordinating conjunction
such as and. but, for, nor, or, and so.

She looked for an apartment. She couldn’t find one.
She looked for an apartment, but she couldn’t find one.

* Sentences whose meanings are closely related can be combined with
a semicolon.

She went to work. She did her job.
She went to work; she did her job.

* Sentences can be combined by a semicolon, together with a conjunctive adverb
and a comma. Conjunctive adverbs include also, moreover, besides,
nevertheless, bowever, still, nonetheless, instead, similarly, thus, therefore,
consequently, next, then, meanwbile, subsequently, and finally. Be sure to use

a conjunctive adverb that correctly shows the relationship between the ideas in
the sentence.

William spoke softly. His audience couldn’t hear him.
William spoke softly; consequently, his audience couldn’t hear him.
* Sentences can be combined by turning one of the independent clauses into a
prepositional phrase.
The dog trotted rapidly. The dog wore a red collar.
The dog in the red collar trotted rapidly.

- Questions on the GED test will ask you to recognize ways to combine
two sentences.

Try this GED example. Choose the one best answer. Then check your answer.

(1) Your flight to Chicago will take six hours.

(2) You may want to bring reading material or (3) This choice properly joins the sentences
work to pass the time. (3) When you arrive, your with a semicolon, a conjunctive adverb,
friend Elaine will meet you at the airport. and a comma. Options (2) and (4) use the
same correct method of combination, but
Sentences 1 and 2: Your flight to Chicago will however and meanwhile fail to convey the
take six hours. You may want to bring reading proper relationship between the two ideas.
material or work to pass the time. Options (1) and (5) are incorrect. The writer

has changed the meaning of the sentence
by using the coordinating conjunctions but
and or.

The most effective combination of sentences 1
and 2 would include which group of words?

(1) hours, but you

(2) hours; however, you
(8) hours; therefore, you
(4) hours; meanwhile, you
(5) hours, or you
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Directions: Choose the one best answer to each
question. Questions 1 through 6 refer to the
following paragraphs.

(A)

(1) The average American uses 123 gallons of
water daily. (2) A family of four uses 492 gallons.
(3) These figures seem enormous, but they are
easier to understand when you consider what
they include. (4) Taking a shower uses about 20
gallons of water alone. (5) Washing dishes by
hand uses about 20 gallons. (6) Running a
dishwasher load uses only about 10 gallons.

(7) Surprisingly, even brushing your teeth use
about one gallon.

(B)
(8) Individual use of water seems high.
(9) Manufacturing use is much higher.
(10) Manufacturing one car uses over 39,000
gallons. (11) Environmentalists are beginning to
pressure companies, to use water more
economically.

1. Sentences 1 and 2: The average American
uses 123 gallons of water daily. A family
of four uses 492 gallons. -

The most effective combination of sentences
1 and 2 would include which group of words?

(1) water daily, nor a family

(2) water daily; a family

(3) water daily, however, a family
(4) water daily; next, a family

(5) water daily, a family

2. Sentence 3: These figures seem
enormous, but they are easier to
understand when you consider what
they include.

Which correction should be made to
sentence 37

(1) replace enormous, with enormous;
(2) replace but with for '
(3) replace but with so

(4) insert a comma after understand
(5) no correction is necessary

- 3. Sentences 5 and 6: Washing dishes by
hand uses about 20 gallons. Running a
dishwasher load uses only about 10
gallons.

The most effective combination of sentences
5 and 6 would include which group of words?

(1) gallons; however, running
(2) gallons, so running
(3) gallons; likewise, running
(4) gallons, for running
(5) gallons, nor running

4. Sentence 7: Surprisingly, even brushing
your teeth use about one gallon.

Which correction should be made to
sentence 77

(1) insert though after even

(2) insert a comma after brushing
(3) insert so after teeth

(4) change use to uses

(5) insert a comma after use

5. Sentences 8 and 9: Individual use of water
seems high. Manufacturing use is much
higher.

The most effective combination of sentences
8 and 9 would include which group of words®

(1) high; similarly, manufacturing

(2) high, but manufacturing

(3) high, for manufacturing

(4) high, nor manufacturing

(5) high; subsequently, manufacturing

6. Sentence 11: Environmentalists are
beginning to pressure companies, to use
water more economically.

Which correction should be made to
sentence 117

(1) insert a comma after environmentalists
(2) change are beginning to begin

(3) remove the comma after companies
(4) replace water with manufacturing
(5) no correction is necessary
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Questions 7 through 12 refer to the following -
paragraph.

(1) Most people think a cooked lobster has
been boiled. (2) It shouldn’t be immersed in
water. (3) Boiling a lobster insures that it will be
thoroughly cooked. (4) It will be soggy. (5) A
lobster should be cooked in a small amount of
water. (6) It will steam and have a full flavor.

(7) Only about two inches of salted water should
cover the bottom of the lobster pot. (8) When
that is boiling, you can add the lobster. (9) In
about 20 minutes, the lobster will be steamed.
(10) Before you begin eating, do’nt forget to put
on your bib.

7. Sentences 1 and 2: Most people think a
cooked lobster has been boiled. It
shouldn’t be immersed in water.

The most effective combination of sentences
1 and 2 would include which group of words?

(1) boiled, it shouldn’t

(2) boiled, so it shouldn’t

(3) boiled, because it shouldn’t
(4) boiled; however, it shouldn’t
(5) boiled; likewise, it shouldn't

8. Sentences 3 and 4: Boiling a lobster
insures that it will be thoroughly cooked.
It will be soggy. '

Which is the best way to write the underlined
portion of these sentences? If the original is
the best way, choose option (1).

(1) cooked. It

(2) cooked,; it

(3) cooked. Fortunately, it
(4) cooked but it

(5) cooked, but it

Tip

Before you combine sentences, determine
what relationship exists between the ideas
in the sentences. Then you can be sure to
combine the sentences in a way that
keeps this relationship.

9. Sentences 5 and 6: A lobster should be
cooked in a small amount of water. It will
steam and have a full flavor.

The most effective combination of sentences
5 and 6 would include which group of
words?

(1) water so it will

(2) water; nonetheless it will
(3) water; however, it will
(4) water; finally, it will

(5) water, but it will

10. Sentences 7 and 8: Only about two inches
of salted water should cover the bottom
of the lobster pot. When that is boiling,
you can add the lobster.

The most effective combination of sentences
7 and 8 would include which group of words?

(1) pot, so when

(2) pot, but when

(3) pot; similarly, when
(4) pot, and when

(5) pot, for when

11. Sentence 9: In about 20 minutes, the
lobster will be steamed.

Which correction should be made to
sentence 97

(1) insert a comma after about
(2) replace minutes, with minutes;
(3) change will be to were

(4) change will be to was

(5) no correction is necessary

12. Sentence 10: Before you begin eating,
do’nt forget to put on your bib.

Which correction should be made to
sentence 10?7

(1) replace you with we

(2) remove the comma after eating
(3) replace do’nt with don’t

(4) replace your with you're

(5) no correction is necessary

Lesson 7
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F ) Sentence Structure

Revising Sentences

When you revise sentences, follow these guidelines.

* Be sure that the revised sentence does not change the meaning of the original

sentence.

¢ Be sure to correct the error in the original sentence.

 Be sure that the revision does not contain a new error.

Questions on the GED test will ask you to choose the best revision of a

sentence from several options.

Try this GED example. Choose the one best answer to each question. Then check your answers.

(A)

(1) We take for granted many small inventions,
safety pins, matches, and rubber bands. (2) My
favorite helpful invention is sticky tags, which are
small adhesive notes. (3) The tags’ inventor, a
member of his church choir, needed a quick way
to find songs in the hymnbook. (4) This personal
need was the motivation for a hugely successful
product.

(B)

(5) Americans have relied on these items that
are useful for many, many years. (6) As a matter
of fact, we are so accustomed to having them
that we could not imagine how to accomplish
certain tasks without them. (7) How fortunate
that ingenious men and women have the same
ordinary needs as the American public.

1. Sentence 1: We take for granted many
small inventions, safety pins, matches,
and rubber bands.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) inventions, safety pins,

(2) inventions, safety pins

(3) inventions, such as safety pins
(4) inventions, but safety pins

(5) inventions, so safety pins

2. Sentence 5: Americans have relied on
these items that are useful for many,
many years.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) items that are useful
(2) items what are useful
(3) items that were useful
(4) useful items

(5) items, useful

1. (3) The revision corrects the run-on
sentence by creating an in-sentence list of
useful inventions. Options (1) and (2) are
punctuated incorrectly. Options (4) and (5)
are wrong because the words but and so
change the meaning of the original
sentence.

2. (4) The revised sentence converts the
clause that are useful into the one-word
adjective useful and places it before items.
The resulting sentence is less wordy but
retains the original meaning.
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Directions: Choose the one best answer to each
question. Questions 1 through 5 refer to the
following paragraph.

(1) Cities and towns try to find a balance
between progress and preservation. (2) For
many years. (3) Most local governments decided
in favor of progress. (4) Progress meant new
buildings and developing unused space.

(5) When people began to realize that they were
losing things from their heritage. (6) Small local
groups began to fight to save historic buildings,
spaces, and keeping important objects. (7) They
won only a few of these fights they made the
public aware of the problem. (8) Now, however
many places are working to maintain the
balance.

1. Sentences 2 and 3: For many years. Most
local governments decided in favor of
progress.

The most effective combination of sentences
2 and 3 would include group of words?

(1) years; most local
(2) years, most local
(3) years, as most local
(4) years, for most local
(5) years, but most local

2. Sentence 5: When people began to realize
that they were losing things from their
heritage.

Which correction should be made to
sentence 57

(1) replace When with Then
(2) insert will after people

(3) change began to begin

(4) insert a comma after things
(5) no correction is necessary

Revising Sentences

3. Sentence 6: Small local groups began to
fight to save historic buildings, spaces,
and keeping important objects.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) and keeping important objects.
(2) and, keeping objects.

(3) and objects.

(4) and; important objects.

(5) or keeping objects.

4. Sentence 7: They won only a few of these
fights they made the public aware of the
problem.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) fights they

(2) fights; however, they
(3) fights, for they

(4) fights, and they

(5) fights; therefore, they

5. Sentence 8: Now, however many places
are working to maintain the balance.

Which is the best way to write the underlined
portion of this sentence? If the original is the
best way, choose option (1).

(1) Now, however many
(2) Now, however, many
(3) Now; however, many
(4) Now however many
(5) Now however, many

=,

There may be several correct ways to
revise a sentence. Your job is to identify
the best revision while you avoid creating
a new mistake.

Lesson 8
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Legssom
an > Organization
Topic Sentences

A topic sentenoe staves the main idea of @ pacderayyh. Fonctioeally, Lhis
senfence is he poincarmand which the entne possame is orpanizel T serilen
well a copic: sentence opdenesg ceadees b che subgect and alloes Them o
aceuiely anticipsie e cooment Ll will Dellow & 1opic scancocs iz usimlly Lhe
JATsL SCULCTIOC 2 o pannobs, How ey Cr, ) coeate eonplzsis, wiilors somciuhcs
place it e the end of the passee.

When slewelping rapue sentences, fllowr hege grickeTines,

e Avid] waguetess, Sl the main poiul ax specilically as passiBle,
Cobgeragpe: "L fimal the riglt apartoaent, yoo stonld censifer some very
impearmanc things.
o, To Aod the clglt apartaocnt, wou should consider theces: impootant
qualtics. lozaciodn, peice, and suilabiliny:

s listalrlish a cleae directiven o Ul pext, letliop ceadens koowe wlse to expool B

ihe _|'.I-ELT.-I;?,I.‘£HTI.

Chasrge Teseirch indroates tha nslag ocl phones alle driving 18

dangcans,
Tor Boscarch inedicates Ul using ool plosncs we bl devitg: cm o se
serioy Rocidents.
CQuestians on the GFR cest vl aske voo o ek the hestarritoey toe:

sonbenee fromm 2 gronp of serend cholees,

Try this GED example. Choose the one best answer. Then check your answer.

(1) First, locate the nearest hospital or Which sentance would be mozt effectiva if
emergancy ciinlz, and ba sure you ko how i inzerted at the beglnning of tha paragraph®
et thare {23 Mewd], wiu can telephone the

Departmert of Motor Vehicles to get 4 new
driver's licensc. (3) [Fyou’vo relocatod within the

{1} Before yvou begin any new taaka, you
should ba congistulated.
{2} To gat sattlad in your ngw community,

gamc slato, you will anly nood do arranoe for
changa of &gdm s (4] :"‘:r:h A Erg . you should handle a few assentlal tasks
reqdlstratlon rules beceuse & residency period a2 el as hds=in
: : {3} Allhough -he riove was 4 succcss, your
mEey be required before you car wote in your now
wofk & far o gver.

home statc. fA] Hera Ls your e "t do® list.
{%] no sentence is neesded

() Thiz paragraph noods a topic 2entence.
Ciption (21 amnlds tha uso of vagquo tamms
and preparas tha readar for tha contant that
is ta Rl oo

Languacs Arls, Whiling GED Skill Dol = Sl Siraclure and Drganizalion a7



R@GED) Praciice RO

Directicns: Chaoso the one best anawer to each

question. Questions 1 through § reler 1o the

fallowing paragmph.

{1} Idoniity thioves do not s1eal money, Jawels,

(2} They o not take electranle equipmant, or
even grest artwork. (2) Instesd of taking
somecne’s cradit cards, identity thlaves want g
parEOn’s name and parsonal infertakion.

{1} Thay uge these stolen Identities ko get
financial loans, and cradit cards for thefr own
use. 5] ldatify thieves also scll thalr victing®
namas to fellow thlawves. that increases the
nurmber of peopla who are spending money in
SOMEONE aisa’s name.

f. Which sentonce would ba most cffective i

insarted at the beginning of the paragraph?

(1) This paragraph dlscusses a new knd of
criminal in Amencan soclaty.

(2) Stelen identilies are hacaming a major
prablem.

{3] A now lind of thlef ia appeating on the
Amarlcan cimingl scena—an Identily
thief.

(4] ldentity thieves targel people whn hava
guod credlt histories and high incomes.

{5} nu sentence iz nacesaany

3. Sentenze 3t Insfead of taking someona’s

cradit cards, identity thieves want a
PEFSON's hiarme and personal Information,

Whizh coreclion should be made ta
sontence 37

(1) insert & epmma affer Instead
{2} replace Instead ul with While
(&) change person's o persons’
(4} insert & comma after name
{5} no correction is neaded

. Santence 4; They use thess stolen

identltles to get financial loans, and
credht cards for their own use.

Whieh corraction shaukd be made 1o
sentenca 47

{1) change uss Lo uzed

(2} changa uge to are usin 5iNg

{3} insert a somma after idenilies
(4] remove ihe comma after loars
(5] No eamection js NCCassary

- 3antence F: identity thleves alzo sell their

victlnz' names to fellow thleves res, that
Increages the number of pecple whe are
spending maney in somecne olsa's
nama,

2. Sentences 1 and 2; ldentity thieves da not Which is the hest way to write |he

zieal money, jewels. They do not take underlinad portion of this sentence? If the
alectronic equlpmant, or even great original is the basl way, chovse opton £1),
RO, {1} thisves, that increases
Which is the best way to writg the underlined (2] tleves, they increases
portion of theze sentences? If the criginal is [3) thieves, That incrassed
the bast way, choose optlon (1) {4} thiewes, that Increased
(1) jewels. They do not take 5] thigwes, increasing
{2} jewels; ey do not lake
(3] jewsls, amd
{4 Jawels,
15) fewels: alzs, they do nol take

28
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Queslions & through 10 refar 1o the following
paragraph.

(1) The JetExpart printer has trays, () The
Ergar tray. called the standard pader tray, holLs

8.5 x 11 inch pepet, it is used for most primt Jobs.

(33 The standard nazer tray is locatod St thie
biottom al the printer 214 also il holas epto 200
gaoos of papar (4] Tha mulipurpose ey,
lewated in ihe gerter front of the printer, can
hald 100 sheels of papar a1 &n anvelopes.

{5] It holds legal-sized paper (§) Llsed when 198
print job Invalves ervelones, transparsncy
shects, or labeals.

€. Sentence 1 The JetExpert printer has
frays.

Which iz 1ha most ellecive rewrita of
gantonce 17

{17 The JetExpart printer has o trays,

{2] The JetExpert prinfer has 0o trays,

i} The JetExpert printor has e trays, thal
hold paper.

(4) The JalExport printer has two lrays hat
hold paper and other prirt media,

(5] Mo fovision |5 NoCessdry

T Sentenca 2: The larger tray, called the
standard paper tray, holds 8.3 x 11-inch
paper, It is used for most print |abs.

Which iz 1hia boet way o write the
underlined porion ot thls zantence’ If tha
uriginal is tha best way. choasc option {1).

{1] papar, il 15 usad

{2 paper and is uscd
(4 papar. but it is used
(4) papst Lsad

(5) paper, il was uaed

Tip

Using index cards, cover all the sentences in
wiur paragraph exicepd the tepicgenlenco. Alter
reading the senience carsfuly, ask youreatf,
“Cauld a resder aocuratdly predict the type of

| irformaticdr that | knaw comes need? 11 O,
reviss umil wou creae B sentence tnal kol
raaders kno what 1o expent in Ll poragraph.

&

10,

Sontznce 3: The standard paper tray is
located al the bottom of the printer and
also il hoids up to 250 shects of papat.

If yiou rew-ole santencse 3 baginning yilth

Lozated at 1he botiorn cf ihe printar,

[[he next words should be

(1) lhe standard papor tray holts

(2] the standand papar tray held

{3) and abso it helds

{47 the standard paper trey |s localed
(5% 1N holds up 14 200 sheets

Santonee d: The multipurpose tray,
located in the canter frant of the printer,
can hald 100 sheots of pager or ten
envelapas.

Which comection should be made e
santance 47

£1) ramave the comma after iray
(2] changa hold lo hatd
{3} insert & comme eflay paper
(43 replace ten with tin

(81 no corredtlon is necessary

Sentences S and B 1t holds legal-sized
paper. Usad when the print job invelves
envelopos, transparancy sheets, or
labels.

Which i5 1ha best way to write tha
underlined partion of thase sentances?
If tho arigingl 1g the basl way, choosa
aption (1),

(1) paper. Uzed

2] papar, and is ueed

(3) papet and is usad

(4] paper; used

{6} papet; addtionally, used

Le=san &
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Lesson
r'T ﬁ“ﬁ Organization

Transitions

Transitional words and phrases connec the: scntenocs i x paragraph, bimaling
theddeas in the text together Writers use Uiese wordls and phrases wo show
relationshipa, Tansitiona words and pheases provide a sense of direction; ther
tdicare the type of content tiat will follow [n other words, transitianal writing
tes the parls of 1 pasigrapl or document erefhct it ) comprelensible
mEAsIgL.

Tramsflonal words and phrases accomplish different rasks, such as providing
AR example of contrasting two ideas, Follomuving is a lisl of Freguenily wsed
Lransitional words aranged in fonctional catepnrics.

Addition; Jurtlerniore, in addition
Cansc and effiat: Hrerefieg, 34 a sl
Cotiprare and conrest: sinrdiarly, branever, it otfice band

Lxample: sfacegficaidy, fhr veaasipie
A1 Cnoe: FErst, secomel, i, sext
Tinec: Hote, 0o miaEitle, simne, the

Questions oo U GRD wst will ask TOU W1 PeCORTmURe Wilys ko oot FRNT oY
trajisificms.

Try s GED exampla. The cusstions refer to the resume cover lzligr on the nowt page.
Choose the one bast answor o asch guastion. Then chack YOUF answiors,

1. Senignca 4. | workad for three years ag a 2. Santence 10: Far instance, the workdorce

printer assistant, reallgnments mada necessary in our
; : current econamy have tralned me to
rec Id 1
it corEciion shoukt b misdd 1 handle added responsibiiies.
sentcnoe 47

Which comection ahould be mags to
Fermbanos 109

{1} replace For instance, with in addlifen,
(2] move For instanes to follow Bconamy
{3) change have 1o has o
fd} inserl & cormma after EConamy

{1} changs workeed 1 wark
(2) Insart Before that tims, befare |
{3) insert Before enrolling at Carlton City
College, befora |
[4) insert a comma after worked
{5t change printer asslstgn'g to Printsr

Asslztant (3] ne corracten is NecEasary
1. (8) The phiage Bofars enroiling at Carfton 2. {1} Tha phesc for Iistance signals that an

Crty Collage providas needad Miormation axargla will follow, However, the cantest of

ahout when tho writers werk 4z a printer
asgiztant oocurrod, Alhough option (2]
provides informalion relatad to fime. the
phrase that ime haz no dear reforent,

ihe senlence Indicates 1hat tha writar is
traing o provide additlonal Support for his ar
her selfconficence.

Language Arts, Witing GED Skill Book = Scntence Stryctare ang Organizaticon



304 Daawoed Circle
Carton, MO 10630—28035
Jdanusey 15, 20012

IIr, Pateick Berta, Manager, Human Fesouross
Winslpad Graphics

aRane Gran Bld.

Hobaort, MO 10468- P465

Dear ki, Bastar

(4}
(1) Please considar my application far tha position of printng sales representaivg
rows cpen at your compary headguarters in Hobart. (21 In May | will graduate
-om Carlton City Collage with an Associate of Applied Science dagree in Frinting
Management. (3] kr. Condy Hazeltan, my marketing instructor, told me ¢f his
work s & reining cansultant for Winsterd Graphics and suggested | epply for
Ihe job.

(B)
(@) | worked for three yoars as a printar asgistant. (5) Whils 1 camplete my degree,
| arn working part time as o customer service rearesentative at Carliom's argest
prinling company. {6] Through my experience 8s A printer assistant and my
counsEswork in pricting managemant, | have acquired the production skills neadad
In the piiniing business. {7) My work as a customer service representative and my

<)
(8] | have confidence in riy knowledge of the printing prodess, including the very
ates! developments n technology. (8! My communicstinn skills have been
confirmed through my wark with & samatimes-cemanding pubic. (10) For
inztance, the workforce realignments mado NECASSERY [N OUE CLITENT Coonsmy

have trainzd me to handle added responsibiliies.

(D)
(11} Thank you [or conzidering my applicaticn. (1 2} ook karward to discussing
Fenw iy employnant at Winstead Graphice would be profilaiia o both of us.

Sincarcly,
Chnia Nofan Affara
Chie Malan Alfano

arclasULrg

study of marketing has taught me about customers’ desires and how to meet them.

Loezolt 10



i m Transitions
| e

Dlroctions: Chonse the one best BNSWET [0 FRCT guaslion. CQuootions 1 thraugh 7 refer ta ihe
nllenwirng instiuclions.

Changing ID Codes and Passwords

(A
(1] The MathPrap soitware allows studants te use tha somplter to study for any
slandardzed math test, (2) Students compiete 1he lessons, he program Qrados
the students' work and records whore they stopped. [3) For Security, each user
has an idertification {1ID) code and passvword thal must be typed in coectly
befora tho student can start working. (4) 1Ds and passworrds can hawve up fo 17
characters and can include numbers, letters, and symbols.

(B)
(5) I ancther student aceidentally or intentionally uses vour sacurity codes,
incarrect infarmation is permanently enterad In vour record. (8) Such errors
cause graat confusion for both students and teachars and you should not tell
your ID ef password to any other student. (7} If you think sormeans elsa iz
intertienally using your security codes, change them as quickly as possible.
(8! 1Ds ard passwords car be changed af eny ime, and, once changed, tha
ofiginal codes are no longer vakid,

(G
Insiructions: If you need to change your 10 or password, fol ow these stepe:
(8] Firsl, choose Codes rom the lkst of sacurity oplions. (10) Type yeur new 10
and passviord, waiting for e ID box to appear. {11) Then press the TAR ey to
cnler your naw password. (12) Type in vour changes. (13) Click tha OK button,
{14]) It's as easy as thal.

(D)
Warnings and remindere:
* (18] Siudents ollen press 1he Emar key after they type in a now code.
163 This s & Gurrmoan mistaso. (17} You must click the 0K bullen 1o epter the
chanpe in the database. (18) The Fregram wil eonifnue to use vour old codas,

" [18) To creste a secure eode, use information that efhcr students would not
ordinarily know. {20} Alzo, chooss a code that You can remember without writing
itdown. (21) For example, ethar usars prebably dont know that Cleopatra is your
pats name. (22) It would, therafore, be a secure code. (23) If 23-55-18 i5 the
combization 0 a lock wou uso dvery o2y, you are likely to reramber Iheao
ahnbers easiy

(E}
If you forget your codes:
(24) If this happans, ask your teacher for help. (25) Dan't get in the habi of
ralying on teachors to aupply your codas, (26) mstructors may net always be
Aavaiable in the clags-oom,

K I
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1, Santznoe 2 Students complete the
lessons, the progeam grades the
students’ work and records whata they
£topped.

YWhich sormection shoulgd b nade 1o
certonca 27

(7} teplace Students wih As students

(2 inzert meanihile alker legsons,

(3) replace lessons, the with leszons. then
{] change students’ 1o stedent's

(5} no corracticn is Necessany

5. Samenco G Such errors causs great
sonfuslon for both studants and
teachers and you should not tell your
I or password to any other student.

Whic is the bast way ta wiite the
Jderlined sorion of this sentenca? U lhe
stiginal i the best way, chaose apfion {11,

(1) teachers and yo

{2 machers. You

{3] wachors; you

(4} teachers, Thorafare, you
(B} teachets, and you

n Sontonce 10; Type your haw 1D g
passwort, waiting for the 1D bax o
appear.

1 woul rewndte scrtence 10 beqlh1ing wth
WWhen
tha next words should be

(1) wou wait for the 1D be
(@} the [[F hox sp6ars

(3 you lype

i) ihe new (D and pasowoerd
(5] yping woiar now [

=TI
Tip_
This leazan has foedsed on the ueo of
ranatianal worde and phrasos within a
paragroph. But rernarmher thul 2
Lranclionul sertenos may be nesgad o
connect the doas expressed in e
nAragraphs.

.

&

Saqtoness 12 and 153 Type In your
changes. Click the QK bautton.

Which is the mosl effective sombination eif
comteraas 12 and 137

1] Fifs,, oz in yoLr changos, then, click
tha Q1K butinn.

(2 Type in your charges, dileking lhe QK
bustton.

{3 After you hawe typad in your changes,
click the Gk buton,

(4) Type In your change: Yaler, click the GK
buttan.

{31 ne combination is necded

Santenuas 17 and 18: Yau must 2llck the
CK bution to enter the change in the
dutabase. The program will gontinue to
use your old codes.

wikich is the best way to write the ynderlned
partion of these sentences? If the omiinal 15
fiie bost way, choose option (1}

{1y detabase, The

{2) dalsbase, since the

(3} dalabase sinca the

(4} datebasc. Clharwise, he
(F) dadhase. Nevartheless, the

Which senlence wauld be most elfertive i
inserted g1 e beginning of paragraph EY

{1] Instead of neading lo change your
voras, you may have simply forgoltan
them.

(2 Forgetting your LD ar password is awiul,

{3] This paragraph will discuss what k3 do if
you forge: your Sacurily godes.

f4) Almost nobody forgets & sacurlly cods.

(&) no s ience is nagdad

Eemlence 25 Dan't get In the habit of
relying on teachets to supply your codes.

Wikich correction ehowld e mads 1o
santerse 257

(1) changa Don't to Do'nt

{2} ineert in the tulure after gat

13y replace Dot with However, don't
i) replace Don't with Besides, uutr't -,
i5) No corecton is NoCEEsary

iason 110



Organization
Unity and Coherence

WeLilens mUSL Orgatiizse thede writlng 5o (lar regders Can It its messape,
Thiz goal is atfioed (Linwel umity 3,0 collercace.

Loicy meins facwsing cach senlenee i a [mrageapby em T main ideq.
Liloeweine, 10 iechicyes unily within a dociooent, aN the parugreapls mus ey on
& singl purposc, Uohctence ecfers o e weef] HCILENSCS are howd fpcrher
Unhcecnce is achiescd when 1he relalionsFuos o Wdeas are ofear 10 Lhe
restcer aned the cveeall MCERAE F5 Cami . Qiderst oo,

Tr acidcve 1MLy ane? cah e, Fallow those pududelines,

® Choose 2 60pde snd stay vaildn il Do, tligress imie vapmcly refarcd sldc IsLICS,
* Ecep your purpaose [ur BHting Ur mind ity won wark,

* Usier Cloar translifuons (o mearve lopicalh lrom one Point to anether, Maintin o

ST that tnabkes sensc

Uheesmlons on \he GRI pest will aske FUu ro feconiioe Wats Lo comort
profleres with uniy and ol oreree.

Try this GED example. The questions refar to tha padicil infammation on the next Rage. Choogse the ore
hest answer o sach quastion. Than chock YOUF ANSwars,

1. Which revizion would imgraye the

k]

offcctiveness of puagranh B2 1. {2} Paragraph B = about BIOLL, not

(1) move sontense £ o the bagln ming of

par|gieph B

(2] remove sentenoe 7

() move sentence B to follow semence 5
{4} remove sentance 4

() na revision s necazsans

Which revizlon woul Impreve Fe
effoctvoness of paragraph 07

artheitis. Sentonce 7 strays from the pic

ko provide detalls about & madical condition,
nof the irediche baing deseibod. This
testrays the unity of the Faragragh,
Sentence T showld be ramovod frem the
Earayraph.

2. {3} The conten| of paraoraph is eonfuzing
becairsea its sentances arm Cuk &f nrder,
sentancoz 11 ang 12 desoribe acllons that

(1) move sentenue 11 Kthe begitning of iogically oour first, & 3204 clue is tha usg of

paragraph C

the word Bofora at the beginnlng of

(2] remove sentence 12 gentonce 11. When (hiese sertences ara

{31 mova sertencas 17 and 12 o the

mevad to the baginning of the paragiaph. it

beginning of paragraph & i mMuch easier to understand.

(4} mova sentance 11 v folow sentanee 12

(51 NG revision s nocesgany

[ Anguage Arte, Writing GED Skill Book » Sentonoe Struclyre aal Grganizalion
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(A}
(1} Haad this fecl sl et carsfully biefore you starl taking BIOLL. (2) In casc
any informatior has changed, reread the patiort insert each time you rifill your
prescripion. (3} Remember that this sheat containe only a summary ahout BiGLL,
(4) It you need mare complels infa-mation, talk to your doctor

{B)
(5! BIOLL is tor people who have swelling and so-encss in joints such as the
knoes, hips, and shou ders. (4) This medicing Fas been very successful in
treating the pain and stifiness of athits. (7} This is vary geec news for the £0
milicn Ameaficans wha suffar greal discomio-t from arihritiz. (8) BIOLL zlso worlks
well o el eve otter kinds of pain such as toolhachcs,

(S
(9) Your doctor can prescribe BIOLL in pill or liguid form. {10} You should eat
before you fake BIOLL, so plan 1o take your medicine immediately after breakfast,
lignch, or dirner. [11) Be'ora you Siart yaur prescriplion, fell your dector about
atqa: medicines you take row or you plan Lo Lk wihilz you're on BIOLL.
(12} Include medicines such as aspirin or nose spray thet you buy without a
preasrpion,

{D)
(13) Somo people find that teking BIOLL causes fhierrt 0 experionce
sncomfortable sida cffects. (14) These may Include headache, upset stomach,
high Blood pressure, of back pain. (19) In addition, palieits may also feal dizzy,

{171 If you have any athar problem you think might be caused by BIOLL, inform
e doctor,

E)

(18) Dar't zkare any of your medicire with otter poople, even if they have e
came kind of pain you co. {19) In additon, be very careful lo keeg BIOLL awsy
from children. (20) This medicing and many others can make children very sicK,

{F)
(21 This fact sheet does not iake the place of careful discussicns with your
dortar, (22 Every time you have o checkup, you should 1alk aboul BHILL and
hiowe It is wflocting yau.

tired, or corfused, (16) Tell your docior if you expe rerve any of these side effccts.

Lasran 11
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Cirectiaas: Clhoose the ong best answer to each

Unity and Coherence

informmalicnal dacuncrt.

1

Getting to YWaork On Time

(A
i1} Most emploves consider lineliness a wokplace requirsmenl, yet many
cmployees are habitually late to work. (21 1 won have bacome 3 mombar of 1he
& ecamers' club, your problem may he argsnization. (2) Here are some pructcal
sugesions that can help you manage your tirma beter, (41 And, you neesd to
hwacome a purctual emploves,

(B}
The nlght befare...
(53 Lay out all the clathing you will wear the naxt day (6) Inclrde shoas and
ACCRSECrCE such &2 Yies, balls, and scanwes. (7 Pack your bricfease ar purse,
Being sure yaur keys are In their dozighaled spol. (B) Finalty, s2° youar alarm to
ga off Tve minutes eany. (8] Friteen minules car'y if bad westhar is prodicted,
{10] Be sure you have cnough cash for e doy.

()
In the moralng...
(11) Usa your answering machine to sareen incoming calls, (12 Except ior
emargencties, do not take calls from friends or family. [13) If your coll phaone
temple you to make personal calls while you get reedy for work, pack i in your
brefcase or purse. (14) Don' forget to turn it off, (15) Many people who pack
thoir phones in briefeases or purses choose a small idlding model.

{L)
(16} Mayhe you are trying to aceomplish too many tasks in the morning.
(17) Evaluate each duty that has become a pan of your maming ranting,
{18) Then eliminate the activities that can be done at another tima. (18) For
example, you don't have 1 washk the dishes baelure you leave the houso. {20) ou
must, howeever, fill the car if your gas tank is near empty.

(E
Likely to forget something?
(1) Do you frequently forgel ilems you needed 1o bring to work? (2] The night
before, place the ilerm on the floor in front of your door. (22} I's unlikely you will
fall to notice the ilem. (24) You must step over it in order 1a leave.

_ (F}
INSUnNnNg SUCCEEE. ..
(£5) # you have Aan appolntment that is vitally important, s two alarm clocks
instead of ona. (26) P ace onz of the alarms seross the bedroom, forcing
yoursel’ to get oLt of bed to tarm it off. {27) One of the clocks should bo battery-
operatad although a power failure gan meke an slectic clock useless.

{G}
{78} I you follow thesa suggestions, you can davelop new hakils that will
frcome routine aftar a time. (28] You will ava'd morning chacs and feel in contral
o wour timae. {3G) In tha future, you will view yeorsell as an argarized, prncteal
ermpinyes with no nead 10 apalagize for being lale—agair.

duaslicr), Guestions 1 Ihreg ke 6 -efor to the following

|_e=son 11



1. Sertence £: 1f you have become a
member of the latecomers’ club, your
problem may be organization.

wihlah is the most cifective reparite of
seplance 27

(1) Employees who are routinely late to
work are very disorganized pacdie,

{2) If you have bosome 2 membar of the
laecomers’ club, your prablem may be
e |aek of arganization and planning.

{3 Il you have bocome 4 member of the
llecomers' club, your problem may be
pruessive organization and altention to
detzll.

i) Latecorners showld neer have o club.

[} ho YEwlle is TECasSarY

]

. Bentencas 3 and 4 Here are some
practical suggestions that ean help you
manage your lime l:atter._hnd,_-,ruuﬂeed
to become a pu nctual employee.

Which iz the best way to wiite tha urdarline
portion of theze sertonces? 1t the crginal is
1tha best way, choose Kt §):

(1} better. And, you nasd 1o become
(2 batter, You need to becama

(3] hetter and become

{4} bettar, and benome

{5) balter, bacoms

a Sentenca B Fliteen minules eatly if had
weather s predicied.

If you rewrote sentence g beginning with
It bad weather s pradicted,

the pext words should be

§1) sel your alarm

(2] =et you're alsr

(3 set ftoan minlas

{0 fiflesn minutes early
(5] qo off catly

-LEE-;FI 1
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 Benlence 10 Be sure you have chgugh
cash far the day.

wiiizh revelon shonld Be made to the
slecamant of sortehce W07

(1] move sertence 10 10 iollow senkence b

(2] move sentence 10 to follow sentsnce 7

(3% mowe semance 1012 the peqinning of
paragreph G

{4) remove senlance 110

(5} no revision is NecCssary

Which ravision would improve the
effactivencss of paragrapn C?

{11 move sertenee 12 o the peginning of
paragraph G

(2] remove sentencs 13

{3) maova scnkence 14 the and of
naragraph G

(4} ramove zorience 13

(5} na revislon is NEceSSarY

_ Bontences B3 and 24 10's unlikely you will
fall to notlce the item. You must step over
it Ln order 1o 1eave.

which is The moat afisctle combination af
septances 2% and 247

(1] M unlikaly you will 2l to notice the e
tosides, you must slep over tin oroer 14
leawve.

{2} s unlikely wou will il in notice the tem,
skepping over it in order I lesia.

{3) Srca you must slep over It in grderta
Yegve, it's unlikely you will fail t0 rintice
the ilsim.

£4) You must step over ilin grder to lagwe:
slill, it's Lnlikely you will fail i nollce ke
fam.

{5] By stepping ower thao itesm, wou will 11l
nolles it

e
T evaluate the unity of a paragraph,
pead cach aonlonce separstaly, Noes i

| ralale dirocily %o the main dea? il nat,

delate the santance of YIRS i
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Text Divisions Within Paragraphs

Jusn a5 u hbcklaver oses hiclzs o boild 2 wedl, writers e paragraphs w
condtruct @ document. The patpose of a pamgraph is to develop the e jde
statce in e top e scolcace. For thls cesggon, Lhe 1MW SCOGCACE 15 uSudlly,
duenigh nat abwyays, placed at the heginnite of a gL

T produce o paragraph, wrilcrs careiully add oie senmence to anneer, bein
serc cachy ane expandds npon the ceneral message The ndividosd sentences
Clarify and wefine e twin point, cach providine valnatle Sugrmortlngg detils,
Unformigalely, white adding sentenccs 1o foro o pamgraph, writcrs somclizoes
Pres ol ol Wie procesz and ereale 3 parageplt (hal is ceeraize and awlowiand.
When a document coulains 1oo mamy long, paagrapls, reders e meehle
Lllemwinags The mcssage. 1o avasid this pybloi, follow these gnidelines.

* fean the document Fir paeagraphis Wt are fonger i sin senleners, Seocliness
A leagzihy prarapraph shonld be divided.

* Lowk for paragraple (hat have more (han oo topic sentenoe, Uswally this [rissage
shenald Tae divided iule Lwo ar mome patagraphs.

= R swie that e parapraphs coulain o ahvrious chiange of subject, Yo mdy wolice
tual several sentences suppont une ides and soversl other senteocecs SLppLrt 2
dilferent ilea. This paseape ulso maoe necd 10 be divided ince mere dam sne

pazagraph,

Lucstions ob the GRD st will Ask you to eooptiiee ways to dindde and

combiing lext correctly;

Try this GLD axample. The quastions refer fo the fact shast on the next page. Chaase the one begt
answar o each question. Then check your answers.

1. Which revizion would [mprone the 2. Which revision would Impsove fhe

cMfectimaness of the fact shoob?
Bagin & naw paragraph with

(1} gentence 4

(21 sentence &

{3} sarianca 7

{4} santance 14

() no revision is nocessary

affectiveness of paragraph ©7

(1) remove santence 13

(21 move sentence 14 to e baglnning of
paragraph ©

(3 move scndoncoe 17 16 folfow sentenca 14

{4} remove zertancs 17

{3} no ravizion |5 neceszary

- {2} Parapraph A conkgine cight sentences, 4
closar svaluatlon shows that the paragraph
contalns a second topic sanences {sentence
5} and a change from tha sublect of
sunzerash 1 the subject of ulrsviolet rays.

.

- {5} Paragraph Cis corect a5 written. It

guntains ona topds sentence and an
seequate number of supparting sentences
amrangad in proper seguonce.

Larguage Arte, Writirg GED Skill Book = Sentence Structre and Organlzatior



The Facts About

Sunscreen

(A}
(1] Sunscreen is a gel or letion that is applied to the skin. (2} s purposa is o
bk the powertl rays of the sun, thereby preventing darmage to he skin,
(3] Nactors insist that everyona should use sunscreen, even thoso wha hava
dark ekin that deesmt burn. (4) Skin speciallsts also say thet sunscroen shou d
be wom daily by anyone wha will be in the sun over 20 minutes. (5) Sunlight
hag two types of dangerous rays, (6) Ultravialet A (UVA) rays ans known as the
“aging” raye; uitraviolet B (UVE] rays ame the “burning” reys (7) When you shop
for 5 sunzcrean, be sure the container says the product is a "broad spectrum®
sunscreen. (4) This type o} sunscreen coniains ingredients that black both UVA
and VB rays.

(B)
(§) Each sunscreen product displays an SPF (sun protaction factor) rating that
gan raags from 2 to 65 (10} The numbars rofer to fhe product's abiliy © block
the sur's rays. (1) The Food and Drug Admimstration recommands that
overnyone, ragardioss of skin type, chatild 1sa a sunscreen wilh an EFF cf at
lcast 15. {12) Paogie whe have very fair skin or a history of skin cancer shiould
buy & sunsgreen with an SPF of 30-63.

i)
{13) Mow that you have become eorvinead and have bolight the propser
sunacrecn, you should know some facts about its application. (14] First, apply
yau® sunscrecn 16 to 30 minutes before going outsida. (18) Ba ganerous, aoplhy
mare fharn you think yeu nead. (16} Than reapply the sunscrean after swimming
or heawy excroise, even il the product says it is waterpract. (17) And wear
sunscreen whonover you are outside, even in cloudy weatnar.

()
(18] ‘¥ou should be aware thal using sunscreen dlena will not fully protact you
fram sun damage. (10 If vou arg going to be in the sun for lang perocs of
time, wiea’ 2 wide brimmed hat ta protact your face and glaves or your hands.
{20 Your shoulders, arms, and chest can ba protected by wearing & long slesvad
shirt, (21) Finally, doctors recommend that you avoid sun exposure altegether
betresn the hours of 10 A, and 4 ri. (22) Atthiough you may find that foliowing
these guldelines in addiior o wearing sunscrean is ineonwanient.
(231 Mevertheloss, winning the ficht against skin cancer iz worth tha effort

'L555E1 2



Text Divisions Within Paragraphs

Divgctions: Chavsse the one bast answer 149 gach fuestion. Csestions 1 through 6 refer te the

lepdleawwinl @ e s,
Clark Sys't ems

MEMORANDUM

Tix M5 Katherine Mowla, YieeProsidont. Adminisme oo

Frorm: i Larlos Cisiwros, TImecon, Thiman Bes e epadioeent
Snhpecl: Spoese ad Pamity Assiztino THrzcam

Lwitt: March 22, 2002

(A
€1} o recen: months, an increasing number of new hires aod transferred employess
hawe capressed conoemn over relocation problems experenced by their fSamilies.
C2) W discussed the problem last month, ¢3) T scheduled a mecting of the Human
Resourees Committer: for March 12, 2002, (47 Prior to the mecting, HRD staff wene
able: ro inerview 30 gow emplovees and their spscs. (5) During the meeting,
commitice members studied the interview respoiiscs and discnssed (he many fcrs.
tlwir contribmte 1o i prowdng problon, (33 Thiz meme reports on e commiges
MLClng S0 proposes 2wy W ddress Lhe O pLCatiog s o reloc .

(B]
(73 Tn response to e LiligghtTheals wentanel, Clark Svsioms his insfremed sewcnl
hundred technical specialists and suppost staff to aur headguarters. (&) In addition,
wie hive hired a large number of pew COpLYCes, Bemy coming from the West Coast,
(A Big proportion of these new’and transteriod worksors b gpouses wl left
CArEErs L mdaee Lo Clicago. (100 Fughermore, many cmplovers have children so
finding housing that offers o gquality school S¥SLEm 5 a primary coneem, (117 Manwy
new emplovees state that relocating here is ove mwhelming, and the Chicago arca is
unfamiliar te most families. (123 In addition, the Ananeial security of imany couples is
depciscledat on the spouse’s abilivy tr fiend suitshle ermployment.

(G}

{13 Lt group propeeses the indtiation af somcLhing mcwe (1.7 Lhis progooo is
designed o help spouses continue their careers and 1o help Families find hoasing
and quality schools and we believe the program will fel [ Clark Sysiems recruil
guality personncl in the long run. (157 The HRD 5140l has researeed and ovgluated
the resonrees i cowts such an onderlaking wrould ineolye. £ B) Thiese frctoes and
many others are thomoglly covercd in the aoached proposzl 0173 ] am available fo
discuss s contents ar any time, C18) In closing, the Hulisan Resources Department
would lilee to express its gradmde wo the ernplogees aud spouses who agreed 1o

¢ imterviewed a5 pant of this proposal's preparadon. €190 Their nanes are TaLed i
Appondix B,

40 . Leszznn 12



E:sﬁ 12

;. Which rey sian would improve the

a'fectivenass of 1he mems?
Bogin & new paragragh with

(1) sortence 4

(2 scntencs 3

{2 samee 12

{4] sentenea 15

(5 o rovigion 1S nesassary

| Sentoqoes £ and 2: We diseussed the
problem lagt menth. 1 schedylad a
meeting of the Human Rezources
Commltbes for Blarch 12, 2002,

Which s the mosl alective gombinatian of
=ertonces 2 and 37

(1} We discussad the problerm last morih,
put | scheduted a mesting <f tha Human
Mesplrces Gommittes har Mareh 12,
2002

(2] Wo dissussed 1he protlam fast ingnth, 1
scheduled & meailng of the Humen
Ragoyrees Comimilte: for Warch 12,
FO0E.

[3) We discuased he probAcm kst menth; |
achedulod 4 macting of the Human
Mesourcos Coramittes for March 12,
202,

{4) Fallowing our dlseussion fast month. !
seheduled a meg'ing of the Human
Basourcas Committoe Tor March 12,
2002,

(5] In spite of qur digcussion &St morith, |
sahaduled & meeting of the Human
Fesources Commitlra for March 12,
2O0E.

WWiich reyision shauld be mada to We
placament of sertanca 87

(1} mewve sentence 3 o the begirring of
paragmph B

{2] mave sentence 8 to Tollow sentence 2)

(3} o sentance § 10 follow sentenca 10

(4 remave saatence @ o

(5) No revisicn IS necessary

L

4. Bentance 11; Many new employscs siate

that ralocating here s overwhelming. and
the Chicaga atca is unfamiliar to most
familles,

It yeull roverate sentence 17 beginning wilh

bt g [

the nexl words should be

(1] he Chirago area is

(2% mary new emploaes skile
(3 rebocating hers is

(4] most farilies facl

i8] Chicaga iz oweruhalming

. Santence 13 Our group proposes the

iniiatlon af something new.

Which ie the most effoctive ewrte of
santence 137

(11 Because Clark Syslems may be unable
ta recruit guality pesonnel, tha Humat
Resounces Danartment showld nitisle
somatning new.

f2) The Hurnan Resources Commiltea
propusas the initiafior of a Spouss and
Family Assistance Prograim.

(3h Clark Syslams mukl assist farnilies whao
tedocate in Chicago,

{4} {The Human Fesources stafl
recommenda a carafully evaluated ideq.

(G} no renrite 4 NECESSErY

. Sentenca 18: In clasing, the Human

Resources Departmeant would like to
express ite gratitude to the amployees
and spouses who agreed to ba
interviewed ag part of this proposal’s
preparalion.

Which correction should be made o
cantenca 187

{1] replace in closing, wikh In the future,
(2% change would lixe 1o would have liked
(3) replace s with ils

{4) change preposal’s & propogals

{5] nc conention is NeCEsEAry
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Organization
Text Dhivisions Within Documents

Ta preavinge v dacument, Weilers add ofe paragepl 1o another, Fach
paragraph dovelops in imporiamt picoe of conten, wied wlen the FRcagraphy anc
arrgupcd i o logieal sconence, the redor can undesstand e UL
Unfurcomatisdy, wrlrers sometimes fil 1o adeguately develop Lhe content of 3
patazcraph. The nsnal result 45 & document that conmadas shore e grphs and a
Fehinpy® feel, To avoid this pootilem, follow these pridelines.

* Lool for paenmaphs that lack 4 efear wpic sentenc: Anahmee twe oontent of the
individual sentences 1T (the seatciocs relate to Ui wpic senlehes of aislier
paragraph, e condiining the parapraphs.

+ Sean ihe Joouinent fr pargEmaphs il Lene OO LI OO EWARY SEICTL O,
Sonretitrees these: fowr scnlences should he frined with angther Parigrapll,
Howrever if fe scallereces adequrlely doyelop an imparku picoe of conrcoe, let

tlie: paeagrapl stand as i 13,

Luweglioes: om the: R test willl ask you b mooopmice waya (o divicke apd

codnlrine tert conrocily,

Try thiz GED example. The guestions refer to the instructions on the nax| puge. Chonse (the ona begl

answeal 10 each quastlon, Then check your answers.

1. Which revigion would improve the

42

affactiveness of tha Instructlonsy

(1) removc senlgnes 13

() eombineg parugraphs B and C

(3) maeve sentence 17 to follow senlence 14
4} remove paragraph

(5] N revigion is nacasRary

. Which ravislen would improve the

effecivenass of paragraph E?

f1) remove serfcnce 16

[(#) removo sertanse 19

{3} begin a nevy paragraph with ontence 20

(4] mave sentence 20 to fodlowy sanisree 18

fB) move sentence 22 1o he baginning of
the paragraph

?

1. (2] Both paragrephs sontaln Information
about the same topic fwhat plant division s
and whan o do if). Passgrazh B has twa
senances and paragraph C has o,
Without carrectlan, these two short
paragraphs create a “choppy” feeling. The
sentancas ehauld be jodned info ona

paragraph,

4. {3} Paragraph E contains aight sentencos.
sentencos 15-19 describa the ways to
separate plats, Scntencas 20-22 disoyss
the stapa to be performed affer tha plants
aro seperated. A new paragraph shculd
bagin with santenice 20 when \he subdect
zhEnges.

Languacs Arls, Weiting GEL Skil Book, »

Sentencs Structure and Onganlzation



How To Divide Plants
(A)

{1} Annual plants bloom and tren de wilhin one growing seasan. () Faruraely,
sore plans are more permananl and can evan live for decades. (3) Most oif
these plants benefit from being divided aller ey spend throe or more years in
one place. (4) Some need 1o b divided every year. {3} If your plants look
cr@gdud or they are proeducing fewer blooms than usual, they probably need o
bie divided,

(B)
{6) The process of dividing plants imvolves digging tnem up, separating them inta
cectons, and replanting the “new” plants in another area of the garden. {7) The
task ol dividing usuzlty occurs inthe spring when new growth & beginning.

(<)
‘&) Regardless of the season, experienced gardeners work on cool, overcast
Hays to protect expesed roof systems frarm ot sun and drying wind. (8) They
olen Mave g ‘resh bucket of water on hand to keep unearihed plants maist
betwesn removal and -eplanting.

)
(107 Before you bagin dividng your plants. prepare the beds the will hoid the
new divisions and dig holes for them. (11) Pregars the plants themselves by
examining their folizge. (121 To make replanting more manageable, cut back the
top growth before you remove the original plant from the ground. (13) If
necessary, you can cut back the feliage by a5 much as one-half. (14) If the new

divisions are still unwizidy, trim the seclions again as you raplant.

]
(E}

{153 Using a spade, dig desply under the original plant, being careful 1o removs
the foliage with its Toot system intact, {16} Mex:, soparate the orginal plant into
bwo aor more zections, (17) If the original plant is moderate in size, you probably
carn =lice it apart with a sharp knifa. {1 £) Howewer, if the plant is large or e rool
aystom massive, You may ~eed to use an adger 1o cut through the racts.
(19) Anothar way to divide unwigldy plants is to pry the sections apart Lsing two
epading forks plarad back to back. (20) Once the gactions ara divided, remove
any dead or damagad roots. (21) Plant immediatzly and water well. (22) To give
your new plants an exira boast, you can mix a root stmulant golution Into 1he
holes as you replant.

LE_SEDFI ]



Text Divisions Within Documents

Directiths: Choose e one best answer o edeh question. Questions 1 through 7 refer to the o lewsiryag
informaticonal documerd,

America’s Most Dangerous Intersections

iA}
(1) Accorcding to a natonally knewn insurance greup, the most harardous intersection in
the Unlled States is located in Pembioke Pines, Florida, {2) A list provided by the
COMPeMy goBss 0f {0 nama tha ning next-most-perious locatons, {3) I you assuma tha
the most dangerous spats must be loeated in our la rgest cities, you'll be surprised to
learn you are wrong. (4) Los Angeles didn't maks the top ten” list. (5) Mew York City
didn't either. {6) To this reader, the most unexpected name on the list is the ordinary
litle town of Frisco, Texas.

(B)
(7] Fow does an insurance company identify fraacherous intersacticns? (8) Twa
indicators are used. (9) First, the analysis takes into secount tha number of accidents
that are known to have ccocumred at that location, (10) Then the epots risk fector s
adllusted upward for each collision that is very costly in terms of properly demags,
physical injury, and loss of lifte, and Bn intarsection Takes the list if Il iz the scene of
MRy, Maty accidants thet are very, vary serious.

(C)
(11) What makes an intersection dangerous. and can the Fazards be flxkad? (12) Two
common causes of accicents include poor visibility of traffic signals and pocr timing of
Iheir cycles. (13) Thase problems can be fixed easily by gotting the city to change the
length of the cycles ard coardingte the signals in an ared,

(D}
(14} The lights themscives can be made larger and brighte:. (15) Providing speclal lef-
turn lanos decrzases enllisions where a turiing vehicle is broadsided by oncoming
traffic. (16} Finally, the damage of rear-an coll'slons can be lowered by using special

pavement that conmrals skidding,

{E}
{17) Sometimes an intersection's hazards are rot caused by the intersection itsel’ but by
the: people who drive threugh . i18) Poople must thersfore rely on themselvas rather
than & city government to make the location sa'e. {19) Those who observe the talovring
guidalines will be using safe deiving practices. R

(F
(20) Dor't speed through an irtcrsection, trying to beal the ye'low light belora it tums
red. (21) Aleo, dor't follow other vehices too closely, (22) Tallgating can cause rear-and
callisions, the driver in back is usually held responsible for the crasn. [23) Firally, never
changa lanes while you are driving through an inlersection, (24} Some strategies ‘rom
dafensive driving sro also useful. (25) If you are waiting at a green light to make a left
turn, kzap your vehice's wheels straight. (8} This prevents vour ear from ending up in
another lane if you are hit from behind. {27} Always watch caretulty for drivers who run
red lights. (28) This beheavior is an absolule Dor'T for any reciona driver,

(G)
(29) Do you live in or travel frequently fo Sacramento, California? (20) K so, avoid the
intarzection of Fair Oaks Boulevard and Howe Avenue. (31} In additon, find out about
tho dangerous intersections in your stale and clty. [32) Most important, remember fo
fallow the guidelines discussed above every time you drivie 5 vehicle.
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1. Which revisicn would improve e

eflartivenass of the goaurnoent?

i1 move paragraeh A o fallow parzgra;yh G

{2] jain paragraphs C and O iMta one
paragraph

{2y merve paragraph 010 ‘ollowe paragraph B

{4 ramove paragaph E

(8] o revision IS Necesgary

 Ganfenoes 4 end 5 Los Angelas didn't
maks the “top ten” list. New York Gity
didn’t either.

Wikloh 15 the mast effective corbination af
septonoes 4 and 57

(1) Los Angelas didin make the ‘top fon”
list, yot Mesw ok City did

(7} ‘s Angeles didn't Make {ha “top ten”
lict: therafore, Mow Yor Cily didn' ither.

(3] Los Angales dldn't make tha "top en”
i1, nor Kld Mew Yotk City.

(4 If Los Angeles didn't make the "iop ter”
list. Rew York Cily didn't either,

{5) Los Angeles didn't make he “log tan® list
neither did Mew o City,

_Sentence 16 Then the spot’s rlsk factor is
adjusted upward for each colliskan that 12
vary custly in terms of property damace,
physical injury, and loss of life, ahd an
intersection makes tha list If it is the
seene of many, many accidants that are
very, very serlous.

Wihich is the best way 1o writs the
undetlined pa:tion of this sentance? If tha
a-igral 1s tha best wary, choose optien (13,

(43 e, and an interseclion

(2 life. Ah mte caction

{5) life, [Marseckions

(4% lie, In BUMTHrY, an intcrsection
(B life. Spaciically, an irtareecticn

4, Sentonoa 17, Sometimes an intersection’s

hazards are net caused by the
Intersectlon itsel but by the people who
drive through [t

Which corecton shoulg be racde to
saentenoe 177

{*¥ chanpe intersaction’s 1o inersactions
(2 reart A comma after ilsel

(3] changs ara io wera

(4) change who to whose

(5% no correclion IS NECasSsary

Which revision would improve the

effactivaness of paragraph FY

{1] move sarence 22 o the peginning of
parsgraph F

(2 slart 8 new paragraph with serance 2d

{3) remove senlence 25

(4} movs santence 27 T follow serisnce 28

(5} no revision is nocessary

 Beptence 22 Tailgsting can cadse rear-

end calllsions, the drlver In back 18
usually held responsible tor the grash-

Wihich s 1he best way to write the
urderlined portion of this agnience? |F #12
orgingl is e hest wey, choose oplion (11

(1% dollizsions, the driver

{21 collizions. Drivers

(3} collisions, drining

(4 eolllsions, still, the driver
{5) cellisions, and the driver

. Sanlenges 26 snd 27: This prevents your

gar from ending up in anather lane If you
are hit from behind. Ahrays watch
earefuliy for drivers wha Tun red lighte.

ATich | the kst way to wiita the underined
porton of these scrtencest 1f the oelginal is
the besl way, choose apton (17,

(1] bahined. Alweys

(2} ‘zahind. Reosiclas, dlways

(3] bohind. Finally, ahlwiys

(4] hohind. Moverthelgss, alway's
(5 behind, and you shau.d aseys
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Direclions:

GED Review

Chiguse the one best answer {o cach question. Suestions 1 thraegh & rofar te the following

ir'|3ur:-'1 s nformation.

Using Other Insurance Plans To Cover Your Health Costs

(A}
(1) Mo insumnce plan covers every health care cost, 2} The caverage you have
lhrough Insco Benefits may not be the orly insurarce yau heve or can get.
[3} Evaluate all insurance options careully, as your choices can affert direc
costs, ihe services you can gel, nd even tho doctors wou may choose fra,

{B)
{4} First, find out if your emplayer or your spovse's employer offers hezltt
coverage, {3) If you ur your spouse are a member of a labor un on, additiong
coverage may be available through the union, () Be very carcful f you're
thinking to chiange er about dropping your employa” or union group health
coverago. {7} You may net be able 1o reinstate coverage you have cancelled or
dltered.

{C)
(1 If you are a veteran who was honorebly dissharged from the service, cal the
LIS, Department of Vararans Affaies to find out aboul coverage, (9) Spotses,
children, and sametmes ex-spouses miay be eligble for benefits. (10) Retired
members of the miliary and their dependents are also eqtiled 1o COVErags.
(111 When you call Veterans Affairs, be sure to inquire about services auailable
in your speciic area.

(o)
(12 Each cate in tha United Stales ovirsees g medical savings program for
Feople with limited income and assets. (12) These programs can help pay
premiume, deductibles, and coinsurance for residents who qualify for tha
program. (14] Eligibiity requirements vary from state to state, call your stala's
medical assistance office for details, (15) Another potentially helpful source of
supplemental insurance is a Medigap policy, (16) Sald by private insurance
companies, the purpose of 2 Medigap policy is ta compenszate for the areas your
existing plan dozs not cover. (17) All Medigap palicies are standardized,
(78) Thay must fol'ow federal and state surance laws, (19) Most sletes offar a
group of policies, allowing buyers to choose the one that moets their spocific
needs, (20) For exemple, prescriptlon drugs.

(E)
(£1} For mare information, ask for the free sooklet ktlad Ineco Bonelits end
Other Insurance Coverage; Who Pays First? (22) The fastest way to get a copy
is via the Intarnet, at www InsEer.pibiorg. (23) If you don't have acoess to the
Internet, call 1-800-467-4638. (24) Ask for publication # 02114, 125) Yoy should
have the booklel within a week.

dé
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1. Senlences 1 and 2 Mo Insuranca plan

cowcrs every health care cost. The
coverage you have through Insco
Bencfits may not be the only Insurance
you have ot can get.

Which iz the begt way 10 write the undedinad
portion of thesa sorteraes? If the angingl |5
iha best way, tioose option {1].

{1} cos:, The covatage

{7 cost; lhe coverags

{3] cost, Fortunalely, 178 COvErHLE
(4] cost: besldes, the cwerage
(5Y oL, Coverse

Sentcnces 5; IF yaw OF your spouse are i
meryber of a labor unlon, addltlonal
coverage may bo avallable through the
unlan.

Which gorraction shouid be made Lo
senlence &7

{1} ghange ara t2 iz

{%) insart a conma after you

(2] change labor union t3 Labor Unian
(4 rompve the camma allar unicn

(5} na cortaction is NCCESEArY

 Bertcnce 5 Be wery careful If you're
thinking to ¢hange or about dropplng
your amployer or unlon greup health
COVErageo.

Which 1s the bast way to write Ihe
urderiinad portion of khis sentenca? If the
orlginal is the besl way, choose option {1).

{1 you're thinking 1o charye ar about
drapping

(7} youre tinking abeut changing or
droppirg

(3] your thinking about changing or drapoing

(4] you're thinking ta changing or dropping

(5} you're thinking fo ehanging of about
Jdropping

4. Whicl ravigion would irprave the

phectivaness of paragraph D7

(1) remove santerce 13

(#y maove senlonce 14 to follow samence 12
(3) begin 4 new paragraph with sertende 15
{4) begin a new paragrapn with sertence 16
{5) no rovision is necassary

. Bpntence: 14 Elgibility regulrements vary

from state to state, call your state's
myed el peslstance office for details.

Which is the bast way L write the
underlinen portion of this sentence? If tha
atigiral is 1he best way, choose oplion 10

(1} atate, call your

(2% slete to call your

(3 staka, calling wour

(4] state; maanwhile, cal you”
{5) state, e¢ call your

Lemgnces 17 and 8; Al Medigap pollcies

are standardized. They must follow
federal and state Insurgnce laws.

Which ‘& the maosi effectve pombina lon o
cantennes 17 and 187

j1) Becauss all Medlgap policies nust follow
fadarel and state insuranse laws, they
Ato standardized.

{21 All Medigap policies arc stunularclized,
hasides, they must frlow tederal and
slata insurance [aws,

(3) Be'ors being standardized, all Medigap
poficies must follow federal and state
inaLrance laws.

(4} Ml Mad gep policics are standardized
and 1y mual follow fedaral anc state
iNsLFANCE [aws,

(5} All Meadigap polic.ee, when Iollaawing
faderal gnd state insurance kews, must
be standardizod,




